This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 7 - Mid and Upper Nithsdale

4,328

.3

1,083

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Jim DEMPSTER	Scottish Labour Party	1,055
Matthew RONNIE	Scottish Conservative and Unionist	1,211
John SYME	Scottish Labour Party	724
Graham WATSON		466
Andrew Stuart WOOD	Scottish National Party (SNP)	872
	Total	4,328

Candidate Matthew RONNIE Elected with 1,211 votes, being in excess of the quota of 1,083

This report contains the transfers results.

Stage 2 - Surplus of Matthew RONNIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim DEMPSTER	308	0.10569	32.55252
Transfer to Matthew RONNIE	0	0.00000	0.00000
Transfer to John SYME	64	0.10569	6.76416
Transfer to Graham WATSON	302	0.10569	31.91838
Transfer to Andrew Stuart WOOD	44	0.10569	4.65036
Value of non-transferable ballot papers			52.11458
	Total		128.00000

This report contains the transfers results.

Stage 3 - Surplus of Jim DEMPSTER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim DEMPSTER	0	0.00000	0.00000
Transfer to Matthew RONNIE	0	0.00000	0.00000
Transfer to John SYME	203	0.00044	0.08932
Transfer to John SYME	815	0.00418	3.40670
Transfer to Graham WATSON	43	0.00044	0.01892
Transfer to Graham WATSON	39	0.00418	0.16302
Transfer to Andrew Stuart WOOD	8	0.00044	0.00352
Transfer to Andrew Stuart WOOD	74	0.00418	0.30932
Value of non-transferable ballot papers			0.56172
	Total		4.55252

This report contains the transfers results.

Stage 4 - Exclusion of Graham WATSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim DEMPSTER	0	0.00000	0.00000
Transfer to Matthew RONNIE	0	0.00000	0.00000
Transfer to John SYME	14	0.00044	0.00616
Transfer to John SYME	15	0.00418	0.06270
Transfer to John SYME	67	0.10569	7.08123
Transfer to John SYME	98	1.00000	98.00000
Transfer to Andrew Stuart WOOD	1	0.00044	0.00044
Transfer to Andrew Stuart WOOD	9	0.00418	0.03762
Transfer to Andrew Stuart WOOD	18	0.10569	1.90242
Transfer to Andrew Stuart WOOD	165	1.00000	165.00000
Value of non-transferable ballot papers			226.00975
	Total		498.10032

This report contains the transfers results.

Stage 5 - Exclusion of John SYME

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim DEMPSTER	0	0.00000	0.00000
Transfer to Matthew RONNIE	0	0.00000	0.00000
Transfer to Graham WATSON	0	0.00000	0.00000
Transfer to Andrew Stuart WOOD	43	0.00044	0.01892
Transfer to Andrew Stuart WOOD	229	0.00418	0.95722
Transfer to Andrew Stuart WOOD	41	0.10569	4.33329
Transfer to Andrew Stuart WOOD	237	1.00000	237.00000
Value of non-transferable ballot papers			597.10084
	Total		839.41027